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MA Economics, I Semester Examination, November/December 2024 
MAEC101DST: Quantitative Methods 

Time: 3 hrs.  Marks: 70 

 �ا�ت: 

 �م �ں � �ا�ں � �اب د� �ز� �۔   � ��  �ا�ت � �ں � � �: � اول، � دوم، � �م۔ � �اب � � �ں � �اد ا�رۃ�۔ 

  � � �۔ 1�ا�ت � � �و�  �اب وا� �ا�ت �۔ � �ال � �اب �ز� �۔ � �ال � �  10� اول �  .1

 (10 × 1 = 10 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚) 

�ں � � �۔ � �ال � �    200�ا�ت �۔ ان � � �� � � �� �� �ا�ں � �اب د� �۔ � �ال � ��    08� دوم �   .2

5)  �ات � �۔ 06 × 6 = 30 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚) 

  10�ں � � �۔ �ال � �    500� �اب د� �۔ � �ال ��    ں�ا�  � �ا�ت �۔ اس � � �� � � ��    05� دوم �   .3

3) �ات � �۔ × 10 = 30 𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚) 

ىلكوو� � ا�ل � ا�زت �۔ك   .4    ت

 �  اول 
  .1 �ال 

I. � � � ر� ذ� � � �ن��   �(Finite Set)  ؟� 
(a) −∞  در�ن � �وں ∞اور � (Real Numbers)  � � 
(b) م� (Integers) � � 

(c) 100  �� �(Natural Numbers)  � � 

(d)  � � ا� � � � �ط 

II. 𝐴𝐴 =     � �ور � ��: {1,2}
(a) {{1}, {2}} (b) {{1}, {1}, {2}, {1,2}} 
(c) {1,2} (d) {{1,2}} 

III.  �ا𝑓𝑓(𝑥𝑥) = 𝑥𝑥2  � �𝑓𝑓(𝑥𝑥)  :�� �ر � 

(a)  � � � (b) [0,∞) 

(c)  (−∞,∞)  (d) {0,1} 

IV. 2 × 𝐴𝐴   (Matrix) ��س 2 = �𝑝𝑝 𝑞𝑞
𝑟𝑟 𝑠𝑠� ) قطعہ� � �Determinant :�� ( 
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(a) 𝑝𝑝𝑝𝑝 + 𝑟𝑟𝑟𝑟 (b) 𝑝𝑝𝑝𝑝 − 𝑞𝑞𝑞𝑞 
(c) 𝑝𝑝𝑝𝑝 − 𝑞𝑞𝑞𝑞 (d) 𝑝𝑝𝑝𝑝 − 𝑟𝑟𝑟𝑟 

V. lim
𝑥𝑥→2

𝑥𝑥2−4
𝑥𝑥−2

 � �ر ��:   
(a) 0 (b) 1 
(c) Undefined (d) 4 

VI.  �ا𝑓𝑓(𝑥𝑥) = 2𝑥𝑥2 + 𝑥𝑥  � ،�𝑓𝑓′(𝑥𝑥)  :�� 
(a) 4𝑥𝑥 (b) 4𝑥𝑥 + 1 
(c) 𝑥𝑥2 (d) 4𝑥𝑥 + 2𝑥𝑥 

VII.  ؟   � �ر� (4,7)اور   (2,3)اس � � ڈ�ن � ��  � �ط� 

(a) 1
2
 (b) −2 

(c) 2 (d) 
2
3

 

VIII.  �ا𝑓𝑓(𝑥𝑥) = 𝑒𝑒𝑥𝑥  � �𝑓𝑓′′(𝑥𝑥)  :�� 
(a) 𝑒𝑒𝑥𝑥 (b) 𝑥𝑥𝑒𝑒𝑥𝑥 

(c) 
1
𝑥𝑥
 (d) log(𝑥𝑥 + 1) 

IX. ا� ��س (Matrix)  𝐴𝐴  ؤ� �(Inverse) ف � ��� � ِ�ر : 
(a) det 𝐴𝐴 ≠ 0 (b) det𝐴𝐴 = 0 
(c) 𝐴𝐴  و�ى ��س   � (d) 𝐴𝐴 = 𝐴𝐴′ 

X. �� �� ��� �ا (Marginal Cost Function)   :� 

𝑀𝑀𝑀𝑀(𝑞𝑞) = 3𝑞𝑞2 − 2𝑞𝑞 + 1 

 �� �� � �(Total Cost Function)  :�� 
(a) 𝑞𝑞3 − 𝑞𝑞2 + 𝑞𝑞 + 𝐶𝐶 (b) 3𝑞𝑞3 − 2𝑞𝑞2 + 𝑞𝑞 
(c) 𝑞𝑞2 − 2𝑞𝑞 + 𝐶𝐶 (d) 𝑞𝑞2 + 𝑞𝑞 

 دوم    � 
 � �ل �ا� ��۔   (Finite and Infinite Set)�� اور ��� � ۔  �ن �� � �ل  �� � � .2 �ال 

   (Diagram)� � �۔ ��    (Surjective Function)اور اون � ��    (Injective Function)دا� ��   .3 �ال 

 � ذر� وا� ��۔  
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 ا� .4 �ال 
𝐴𝐴 = {1,2,3},𝐵𝐵 = {2,2,4}, 𝑈𝑈 = {1,2,3,4,5,6} 

�  �𝐴𝐴′ ،𝐵𝐵′   اور𝑈𝑈′    � �� �� در�� �� اور(𝐴𝐴 ∪ 𝐵𝐵)′ = 𝐴𝐴′ ∩ 𝐵𝐵′ 

 Scalar(  �د� ��س (Scalar Matrix) � � �؟ � �رت � و�ى ��س (Diagonal Matrix) و�ى ��س  .5 �ال 

Matrix ( ؟� �� �   

 ا� � � ��۔ درج ذ� � � �  .6 �ال 

a. ق�ىىمى  � �د
ت
ب
𝐴𝐴𝐴𝐴�   � �� (Commutative)���ں � �� �� � ���ں �  �ب  ≠ 𝐵𝐵𝐵𝐵  ۔ 

𝐴𝐴 = �2 0 2
3 0 1� ,𝐵𝐵 = �

0 0
2 0
3 2

� 

b. ا�اف   ىر� �  �ڈ  �  ا  (Standard Deviation)  5  �ا�اف   ىر�  �، � �  �  �  �  �  5  � �ر �  �  �ا� ڈ ۔  

 � ��؟  ا�اف  ىر� ، �  ���  �  � � 2�   � �ر � �ا� ڈ � ��؟

   � �� درج ذ� �: آ� �� � � � � ازد�م �را� � �� � آ� �� �ر� �۔  .7 �ال 
𝑄𝑄 = 150 − 𝑃𝑃  

  (Total Revenue)� و��    �� �  �اوار � � � � آ� �� � �ار �۔  Qآ� �� � � ا�� � اور  P�ں،  

 ��؟ (Maximum)� � ز�دہ 

    Uا� .8 �ال      𝑞𝑞1�� � آ� �� � �ار  درج ذ� �� � �ل � ��� �ح  � �ف  ��� ا�دہ � �    𝑞𝑞2اور �� � �ار 

(Marginal Rate of Substitution (𝑀𝑀𝑀𝑀𝑆𝑆𝑞𝑞1𝑞𝑞2
 ا� ��۔   ((

𝑈𝑈 = 𝑞𝑞1
0.8𝑞𝑞2

0.2 

 � �ب ��۔   (Producer Surplus)اور � �ا�ر  (Consumer Surplus)درج ذ� � � �رف  .9 �ال 
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 �  �م 
درج ذ� ��ت �  � �� �ن ��۔      (Range)  � اورر  ،(Co-Domain)  �ڈو�  ، (Domain)  ڈو�  �� �   .10 �ال 

 ڈو�، � ڈو� اور ر� � �۔ 
a. 𝑓𝑓(𝑥𝑥) = 2𝑥𝑥 + 3 
b. 𝑓𝑓(𝑥𝑥) = 𝑥𝑥2 
c. 𝑓𝑓(𝑥𝑥) =

√
𝑥𝑥 

d. 𝑓𝑓(𝑥𝑥) = 10 

 � ذر� � ��۔   Inverse Matrix �Crammer’s Ruleدرج ذ� �وا�ں � .11 �ال 
2𝑥𝑥 − 2𝑦𝑦 + 𝑧𝑧 = 4 
𝑥𝑥 + 𝑦𝑦 + 3𝑧𝑧 = 4 

−𝑥𝑥 + 7𝑦𝑦 − 2𝑧𝑧 = 4 

 �� �ا� درج ذ� �:  �م �  �ا .12 �ال 

𝑄𝑄 = 𝑓𝑓(𝐿𝐿,𝐾𝐾) = 𝐾𝐾𝐿𝐿2 − 2𝐿𝐿3 

 �۔  � �� �م � ر� K = 36   ���� � (Fixed Capital) �ت � �م �

a.  � (Labor) �  اوار� ��� (Marginal Product) اور او� �اوار (Average Product)  ا� ��۔ 

b.  اوار � � �ح� ��� � � � � �(Diminishing Marginal Returns)  ؟�� 
c.  م ز�دہ � ز�دہ � �اوار �� �� �؟� 
d. ز�د ہ � ز�دہ �اوار � ��؟ � � 
e.  ��۔ � � �ا� � اوار����  اوار� او� � � ��   دہ �� � ز  اواراو� � � � � د 

 � �� � �چ �� �۔ اس � �� � درج ذ� �� ا�دہ � د�� �� �:  (𝑞𝑞2) �  اور (𝑞𝑞1)�رہ ا� � � �ف ��ں  .13 �ال 

𝑈𝑈 = 𝑞𝑞1
0.6𝑞𝑞2

0.4 

 رو� �۔  𝑀𝑀�۔ �رہ � �   (𝑝𝑝2)� �  � اور (𝑝𝑝1) �ب � �

a. گرر� �وات
ف
 �۔    (Langrage Equation) �رہ � � � �وات � ��؟ � ا�دہ � � لبىب

b.  ا�دہ   ��رہ ��ب � �  اور ��� � � (Marginal Utility) ؟ �ل � ��� �ح � �؟� � 

c. �د�� �ں۔   �ا� �� � �رہ � ��ں اور  وہ �وا � �  � 

d.   � � رو� �۔  �رہ � �� اور 3000� �رہ � �  �  رو�    25� �    �رو� اور   50�ض �� � �ب   �

 ��ے �؟  �
 درج ذ� � � ا� � � ��:  .14 �ال 
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a. �ا 

𝐴𝐴 = �1 2
3 4� , 𝐵𝐵 = �2 3

1 5� ,𝐶𝐶 = �1 3
0 4� 

 درج ذ� � �ب ��: �، � 

i. 𝐴𝐴𝐴𝐴 
ii. 𝐵𝐵𝐵𝐵 
iii. (𝐴𝐴 + 𝐵𝐵)𝐶𝐶 
iv. 𝐴𝐴𝐴𝐴 + 𝐵𝐵𝐵𝐵 

b.  �� �۔  درج ذ� ڈ� � او� ا 

 ا�اد � �اد ��  آ�� 

200-300 4 

300-400 61 

400-500 118 

500-600 139 

600-700 126 

700-800 150 

800-900 2 

 


